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General Instructions :
(i)  The question paper comprises two Sections, A and B. You are

to attempt both the sections.
(ii)  All questions are compulsory.
(iii)  There is no choice in any of the questions.

(iv)  All questions of Section A and all questions of Section B are to
be attempted separately.

(v)  Question numbers 1 to 3 in Section A are one mark questions.

These are to be answered in one word or in one sentence.

(vi)  Question numbers 4 to 6 in Section A are two marks questions.

These are to be answered in about 30 words each.

(vii) Question numbers 7 to 18 in Section A are three marks
questions. These are to be answered in about 50 words

each.

(viii) Question numbers 19 to 24 in Section A are five marks

questions. These are to be answered in about 70 words each.

(ix)  Question numbers 25 to 33 in Section B are multiple choice
questions based on practical skills. Each question is a
one-mark question. You are to select one most appropriate

response out of the four provided to you.

(x)  Question numbers 34 to 36 in section B are two-marks

questions based on practical skills. These are to be answered

in brief.

31/1/3 3 [P.T.O.
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T -—-A
Section-A

o~

1. T=fafed 4 @ gqa eRgehe g 1

C.H

H,;CH, ;CH,;CH,;CH,

10 > ~4710 > ~6 14
Select saturated hydrocarbons from the following :

C.H, ; C.H

H, ; C,H,, ; CH,, 5 C,H,

10 > 747710 > —6 714 °

2. T BIAI 2 SIS his WA a1 YHT H ohe ST 8 7 1

What happens when a Planaria gets cut into two pieces?

3. T UICU sl IcUTGeh Il had @ ¢ 1

Why are green plants called producers?

4. Tordt <@ hl a9ar @ a1 dTcqd B 7 SERT YUFTcHeh 37U SRS &g
AT GIIGT & ? 39eh1 S.1. ATk ToAfau | I8 Areh fohdll oid ol Biehd g
Y fore TohR eferq & 7 2

What is meant by power of a lens? What does its sign (+ve or —ve)
indicate? State its S.I. unit. How is this unit related to focal length

of a lens?

5. eI FEfedd o -9¥ T8 & IR ATl skl I SE1ET | 2

List four advantages of properly managed watershed management.

31/1/3 4
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6. ““TRT o YISV ShY AT IEHT I: STANT AT =12 | 39 HYH
1 HRT Fied gie hifeTT | 2

“Reuse is better than recycling of materials”. Give reason to justify

this statement.

7. T i SAIH G5 HeRI[Eh 37 H 443 K W TH i W T4 a7
ANftres w1 T fafae | 38 29 aret stfyfsran v vemfaes g o
fIRaT qo 9% Gorfe 3TF hi 39 TR § ofHeRt o Seor@
st | = ', e Swie ITfNifsha o 3cate Y SAffsRan, Tifsem
FraT fHehel S8 I S IUfedfa o, BTgie A hEt S ? 3

Name the compound formed when ethanol is heated in excess of
conc. sulphuric acid at 443 K. Also write the chemical equation of
the reaction stating the role of conc. sulphuric acid in it. What
would happen if hydrogen is added to the product of this reaction

in the presence of catalysts such as palladium or nickel?

8. & udATa Wiz H,SO, i ufeufd & uiiss et & atfufsran oan 2,
I g 79 J<h 4aTel 3cdd BIal = | < 74U T e ok I AN 3

(i) g 7Y 9Tt 3 ANfirek | Afirent o =t 4 a1rd F, 3weRt am fafaw |
srfufsran =1 TR THieur 3R 999 9T 3ATe 1 9 fdfgu |

(i) 39 STfwfshan ® |5 H,SO, % J(Heh o1 Ioei@ shilsTT |

31/1/3 5 [P.T.O.
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When ethanol reacts with ethanoic acid in the presence of conc.

H,SO,, a substance with fruity smell is produced. Answer the

following :

(1) State the class of compounds to which the fruity smelling
compounds belong. Write the chemical equation for the reaction

and write the chemical name of the product formed.

(i) State the role of conc. H,SO, in this reaction.

9. T qA A T B MY Tad GReft o dTEX ATad H HART: T8 2 3R
13 H fe¥rq § | arferert & &9 °, 39 IHI dcdi ot A= @ 718 o i
o RIS | 3

(a) Sk TRATU[STI H Soiareiql ohl HE&T

(b) ok TRATI[STI o TTES

(c) AT ! AW i Y

(d) 3o JATFETESI h G
(¢) ok UTfcaeh A&l
() 3T TSN b G

31/1/3 6
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Two elements ‘A’ and ‘B’ belong to the 3rd period of Modern
periodic table and are in group 2 and 13 respectively. Compare

their following characteristics in tabular form :
(a) Number of electrons in their atoms

(b) Size of their atoms

(c¢) Their tendencies to lose electrons

(d) The formula of their oxides

(¢) Their metallic character

(f) The formula of their chlorides

10. 15 dd ‘M’ fSaeht soae fa=ma (2, 8, 2) ®, U &4 O Hshi
(NO,)",(SO,)*” @ (PO,)*” o @1 AN T & | 38 THR o A
Rfiert o g1 Tl | ae@ M gk srad aweft & forg o ok
AEd | o 77 M’ wegarst Afie s stgen el Afiek
FATQT ? 379 IR hT HROT Afea giE hifse | 3

An element ‘M’ with electronic configuration (2, 8, 2) combines
separately with (NO,) ,(SO 4)2_ and (PO 4)3_ radicals. Write the
formula of the three compounds so formed. To which group and
period of the Modern Periodic Table does the elements ‘M’

belong? Will ‘M’ form covalent or ionic compounds? Give reason

to justify your answer.

31/1/3 7 [P.T.O.
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11. T & 97 aread © ¢ el uTedt § e oAt g fafer o A fofen
3R 37k ot fasies oft ifs | 3

What is meant by pollination? Name and differentiate between the

two modes of pollination in flowering plants.

12. AHa SHEE & FEt@ @, S 99 & @ o vgfg & fau
AEwE B, il HE b T Oy ot game ) y@w e % qm

fergT=d &1 Soci@ hifsTu | 3

Suggest three contraceptive methods to control the size of human
population which is essential for the health and prosperity of a

country. State the basic principle involved in each.

13. = 3@ ¥ ¢ TC 9N A, B 3R C & T 3T Idh 1 Uh-Ueh
foRaw | 3

Ny

31/1/3 8
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Name the parts A, B and C shown in the following diagram and

state one function of each.

14. 9o o0 Qi (TT) 99T T o & G (tt) o st fohu foredt T Tt
Hepnul H forelt ATk 1 deell NGl F, # heel WeX o vl WY (Tt) &
IS U | 0 F, W1t o il o S 51 36 F, et § 6 o o
HR A <M1 8 TehR o T UTed §C | 3T 3 sfifstai o @ fohy g
TR A off I IURE YAV BT T S ok AR 9T AT AT foReft
= W a5 @R © ? A1 71, @ 39 fEm o e it | afe T, @

319 I ! hR Tl giE Fifer | 3

In a monohybrid cross between tall pea plants (TT) and short pea

plants (tt) a scientist obtained only tall pea plants (Tt) in the F
generation. However, on selfing the F generation pea plants, he
obtained both tall and short plants in F, generation. On the basis of

above observations with other angiosperms also, can the scientist
arrive at a law? If yes, explain the law. If not, give justification for

your anSwer.

31/1/3 9 [P.T.O.
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15. 3UTRId SAequli 3T ST AT o i ofiF farsigenmt creqon <l gt
qrferent & ®9 H Y | 3

List three distinguishing features, in tabular form, between

acquired traits and the inherited traits.

16. (a) F9 & TAT G YW o 3UadT ol g o foAw fFor id
iU | 36 @ W A9aa hivl 9T & ¥ [od GHI Johm
foRtoT o Tfeeien foreerma =t oft ifeRa hifsTT |

(b) AR Y & = H THA A GHT TR o I = I STUSIR
3/2 %, Tl TSI o il § 9T H TTH i o TofT a1y o STqad-TH
Tl I | 3

(a) Draw a ray diagram to show the refraction of light through a
glass slab and mark angle of refraction and the lateral shift

suffered by the ray of light while passing through the slab.

(b) If the refractive index of glass for light going from air to glass is
3/2, find the refractive index of air for light going from glass to

air.

31/1/3 10
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17. 7= o 50 9 vad YT o 709 o U Y191 o TI&90r 1 T HHo
fofaw | =g 3 31 F9aw = & TSHi g’ 3% fohd wehr qutian foh o =1
o YhTST ETd 0T o1 o1 & 7 TR Wit I8 291130 foh S vaId JehTet
%1 IaeT G, Teh-gER 9§ 3o FATEdd 3 HadH i o TISHI & TIISH

o ¢

H, gt fosH & woteh W foadera: 3Tade oar ], d« SHeRT 9 AT BT

2 3

State the cause of dispersion of white light passing through a glass
prism. How did Newton show that white light of sun contains
seven colours using two identical glass prisms. Draw a ray diagram
to show the path of light when two identical glass prisms are
arranged together in inverted position with respect to each other
and a narrow beam of white light is allowed to fall obliquely on

one of the focus of the first prism.

18. TAfetied =t gfe o foru sHwo difo -

(a) Torelt oft Sfia-mvea O srqereshi / STumTSieRt ot Iufedrfa sTeawe 2 |

[aN aN N

(b) TRl TR @ § St -YaTe ThifTeh 2 2 | 3

Give reason to justify the following :
(a) The existence of decomposers is essential in a biosphere.

(b) Flow of energy in a food chain is unidirectional.

31/1/3 11 [P.T.O.
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19. (a)

(b)

(c)

(a)

(b)

31/1/3

AT guurt o Tewl § = fau mu uet st uftam fafee :

(i) 9

(i) Thdl &5

(i) T

(iv) T&T BiHd

et fow 7T g o T&T %ishd F9IH o fole, foror sTiE @it :
(i) Tadd U

(i) I U

Fro fou U sTE W foem HifSu | EE M 1S <9 991 P RS
forrar 2, foreRT gdor gry s strafefa wfdafsrar Q 2 1

U1 M & TR &l It hifeie TR Ifdfersr Q 1 hig U fafyme
o7 feafe | 5

Define the following terms in the context of spherical
Mmirrors :

(1) Pole

(i1) Centre of curvature

(i11) Principal axis

(iv) Principal focus

Draw ray diagrams to show the principal focus of a

(1) Concave mirror
(1) Convex mirror

12
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(c) Consider the following diagram in which M is a mirror and
P is an object and Q is its magnified image formed by the

mirror.

State the type of the mirror M and one characteristic property of

the image Q.

20. (a) TME T % A= fGU MU g 9T o1 e fafa
qacil, Tiarient, fheeetta i, qeamt ufvmn

(b) TER & foerrasfiar 3uii o ol =afs wifHar-sigar @ difsa 8 |
TR ohl AEH R YT hi=aT o JeARIoT /IT€ema /T 3tk
feRaT ST TeRdT © | 3ATeh IR o Tohtl Wil T 3 3Aeh IS
T gt 927 % IR H SIFRschdl 3cde hid o 329 O Teh 1AM
SRS foham 2 | IS T8 39 Saq-a&d | 91 oiH o foie e
STTT, 1 319 38 YU i 8 fohdt T eanT ot ?

(i) 39 Yo o ST bl ST hA o1 3233 Tafau |
(i) I o ITETd T4 1 I TH A & fT¢ UG FLd T0F A9
TN 3h1 SRAT ek &1l 7 U QT <okl ohl Gl SA15Y |
(iil) 3 31 geAi o Gt FAT3E St 39 AR | forepfara & sird € <
Y YR o AT H YT o Gfshd IEM 2d B | 5

(a) Write the function of each of the following parts of human eye :

cornea; iris; crystalline lens; ciliary muscles

31/1/3 13 [P.T.O.



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

| EACER

(b) Millions of people of the developing countries of world are
suffering from corneal blindness. These persons can be cured
by replacing the defective cornea with the cornea of a donated
eye. A charitable society of your city has organised a campaign
in your neighbourhood in order to create awareness about this
fact. If you are asked to participate in this mission how would

you contribute in this noble cause?

(1)  State the objective of organising such campaigns.
(i1) List two arguments which you would give to motivate the

people to donate their eyes after death.

(i11)) List two values which are developed in the persons who

actively participate and contribute in such programme.

21. (a) 39 < g Uffers ST <914 o fotu 3@ feufa & weersr fomo
i S 15 foe < o JeRTiETeh ohvg 3R 38 T&T Biohd &
s feme
(b) Sk fommr sm@ o 3fa fog afed (aFmws (+) I¥an
FOMCHS () T8 w1 fog ot & Fg@n) o= g (u) qon
et gt (v) sifra R | Seora AR fF 58 e §, 3 gft
3T Tid ! Bishd gl (f) W Tord TR wafoa 2 |
(c) 39 <" sl &HAT 1A hITT, ST 37T TERIRTER heg & 20 cm T T

o0

Teora foreht forma o1 —1 Straed o1 aredfarers 9 Ieer gfafors samaT 2 | 5

31/1/3 14
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(a) Draw a ray diagram to show the formation of image by a
convex lens when an object is placed in front of the lens

between its optical centre and principal focus.

(b) In the above ray diagram mark the object-distance (u#) and the
image-distance (v) with their proper signs (+ve or — ve as per
the new Cartesian sign convention) and state how these
distances are related to the focal length (f) of the convex lens in

this case.

(c) Find the power of a convex lens which forms a real, and
inverted image of magnification —1 of an object placed at a

distance of 20 cm from its optical centre.

22. (a) WHE HIET S 3 o A1 4T 7T gedeh st 61 i feafa -
(1) SR
(i) HaAREE TS
(i) ToiE™
(b) =T Shl TLEAT R F o FUIH hHIfSTT | 5

(a) Write the functions of the following parts in human female

reproductive system :

(1) Ovary
(1i1)) Oviduct

(ii1)) Uterus

(b) Describe the structure and function of placenta.

31/1/3 15 [P.T.O.
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23. S 3§ & 1 d1eqd © 7 ST 39 o ot ITert =’ hiehi i
el ST | 0 | M WURd TSt o 9edi o S 3g9eH o
T T el 81 Gehdl ¢ 39 I hl T dfga giE A | 5

What is meant by speciation? List four factors that could lead to
speciation. Which of these cannot be a major factor in the
speciation of a self-pollinating plant species. Give reason to justify

your anSwer.

24. (a) G STEEHTEAT A TG BESIHIeHI o siie fa9e HH o fofw
s T Therr fafgu |
(b) T % 9 H T84 B W §4 aTel 3cdrai o 19 foafae | 2 At
stfurfsran w1 TrEmafe TefeR fofae it fomfea 2 areft fafim
YR shl FHSTISl ohl SIS |

(c) T = veprer I Iufedler & B A FAGT ok | AT A
wfereermue srfsyferan s AT ST 2 7 5

(a) Give a chemical test to distinguish between saturated and

unsaturated hydrocarbon.

(b) Name the products formed when ethane burns in air. Write the
balanced chemical equation for the reaction showing the types

of energies liberated.

(c) Why is reaction between methane and chlorine in the presence

of sunlight considered a substitution reaction?

31/1/3 16
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ART-F

Section-B

25. Torelt B 9 JERTRIE AN % g TR W @l Wi i Sare
T Faded gUUT g0 o1 1&0 faferes TRt 98 W, 3E 39a @i
# wipd g I FA & faw, g fowan | S meiem 3 3@ s
T hichd U T AR 3Tk TE A ITd i ok Tell SN & THISHT
1 km @ o fret waa 1 ®hid G o1 gama foam | 3 9
T 3H TEY YA Dl BIRGA B b [T W AT AT TAFTANRG
AT A : 1
(a) TUUHI UG H T
(b) TG HI YT H K
(c) U< ol gUUT St AR
(d) U< ol 9ad i AR

A student obtained a sharp image of a candle flame placed at the

distant end of the laboratory table on a screen using a concave
mirror to determine its focal length. The teacher suggested him to
focus a distant building about 1 km far from the laboratory, for
getting more correct value of the focal length. In order to focus the
distant building on the same screen the student should slightly

move the :

(a) mirror away from the screen
(b) screen away from the mirror
(c) screen towards the mirror

(d) screen towards the building

31/1/3 17 [P.T.O.
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26. ToREt STFAIRR A o Wid ¥ oA aTel TehmT oo 31 99 STRRET

FH o foru, Fiar & wft S i arnfies sgewen gain g 7

y

N

.

“\

(a) P
(b) Q
(¢c) R
(d) S

Select from the following the best experimental set-up for tracing

the path of a ray of light passing through a rectangular glass slab :

P

Q

R

'}

\

(a) P

() Q
() R
d) S

31/1/3
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27. = fou e e 1 SteeE hifsTe fSrom forddt s 3 ST1uaH hior (L),

I I (Lr), THTa =0 (Le), T=m =001 (LA) a9t fomem =i
(£D) 3iferd fopu 2 | St Tt 3ifohd whior 2 - 1

(a) LATZL

(b) LA, ZLia ZLr

(c) LA, Li, Ze 9 £D

(d) ZLA, Zi, Zr 9 £D

Study the following figure in which a student has marked the angle
of incidence (i), angle of refraction (£r), angle of emergence
(ZLe), angle of prism (£LA) and the angle of deviation (£D). The

correctly marked angles are :

(a) LA and Zi

(b) LA, Ziand Lr

(c) LA, Zi, Le and ZD
(d) LA, Zi, Zr and £D

31/1/3 19 [P.T.O.
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28. fdU TTU I o\ i Aferene wiRd g, TR g forar (S, 18 A
TS) ! BIHEd THleh, Jd HH & T 319 39 Tt o1 Ufafons o€ @
IO R SR JTE ohid @ | U6 9T T Ycfsrsl gaa 2l g ? : 1

(a) ®enm R urvd gitafda
(b) T R Bret
(c) 32 IR BI
(d) ST, 3eer IR Bie

To determine the approximate focal length of the given convex lens

by focussing a distant object (say, a sign board), you try to focus
the image of the object on a screen. The image you obtain on the
screen is always :

(a) erect and laterally inverted

(b) erect and diminished

(¢) inverted and diminished

(d) wvirtual, inverted and diminished

29. 9 fou TU wErei % foRE OYTe™ H IWM AEA SHH % folg
TTe1eRtuT- STTfshaT <Al St o foru foram ST Tehar 8 7 1
(a) Ca(OH), ¥R = 0
(b) NaOH 2 9 &1 dd
(c) NaOH 3R @i+ da
(d) Ca(OH), 3R @i

Which of the following sets of materials can be used for conducting

a saponification reaction for the preparation of soap?
(a) Ca(OH), and neem oil

(b) NaOH and neem oil

(c) NaOH and mineral oil

(d) Ca(OH), and mineral oil

31/1/3 20
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30. 13 B 25 mL GTiar i IR WA P, Q, R 3R S I I+
A H 10 mL ST S WA @ | 98 39 WAl 1 =) s S
&1 Ueh-Ueh I 39 JahR firetmar & — P ® KClL; Q § NaCl; R ® CaCl,

agr S H MgCl, | TeIv=Td 98 Tcdeh TLEHel H A1 o foera & T8
TN 2 mL STl © | Tieh T o G810t hl Wl -HId f&e «

34 TS ATl § S 911 e il 9eaTedT 7, F WEH e & - 1
(a) P3RQ (b) R3S
(c) P,Q3M R (d P,Q3M S

A student takes four test tubes marked P, Q, R and S of 25 mL
capacity and fill 10 mL of distilled water in each. He dissolves one
spoon full of four different salts in each as — KCI in P, NaCl in Q,
CaCl, in R and MgCl, in S. He then adds about 2 mL of a sample
of soap solution to each of the above test tubes. On shaking the
contents of each of the test tubes, he is likely to observe a good

amount of lather (foam) in the test tubes marked :

(@) Pand Q (b) RandS
(c) P,QandR (d) P,QandS
31. HreHTRT iR o fow ® i €t 18 fewforn W foem ifste - 1

1 37 safwfsransti § S oot Bt 2

I 9eF & g raaue & fore eafufsran fasor 4 wfean aamss
[ESICISIGIE

I Grtertor stfsrfsran weh o yerr 3t Sarefiientor stfifsran 2

IV T sl Setl o e STl ol &I e 8

3T Tt fewfimr 2 -
(a) LIaII (b) ILUIFIV
(c) LITIV (d) HaAIIRIV
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32.

Consider the following comments about saponification reactions :
I Heatis evolved in these reactions

IT  For quick precipitation of soap sodium chloride is added to the

reaction mixture

IIT Saponification reactions are special kind of neutralisation

reactions
IV Soaps are basic salts of long chain fatty acids

The correct comments are :
(a) I, IIand III

(b) II, III and IV

(c) LITand IV

(d) OnlyIandIV

o~

ffTRad § & 19 THSITA ST 1 9= © ¢ 1
(a) e, ueft 3R fusmctt o smuTe

(b) HFH % Fheeh R AT o FHeeh

(c) TGS o 9@ AR el & 9@

(d) ueft & TE TR =THIES & U™

Which of the following is a correct set of homologous

organs?

(a) Forelimbs of frog, bird and lizard

(b) Spine of cactus and thorn of Bougainvillea
(c) Wings of bat and wings of butterfly

(d) Wings of a bird and wings of a bat
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33. forelt o w1 ‘TRt feeierast sfist o ot 6 fafem st <t weem s

R 1 T 2 | s 3 R R e wg & s age g 1
(a) W, =M, Y (b) TSHET, Hahl, TT
(c) W, ﬁ%;, {ISTHT (d) TSH, 7, = 1

A student has to perform the experiment “To identify the different
parts of an embryo of a dicot seed.” Select from the following an

appropriate group of seeds :

(a) pea, gram, wheat

(b) red kidney bean, maize, gram
(c) maize, wheat, red kidney bean

(d) red kidney bean, pea, gram

34, omften & fs@ved o 39 fomiy <o o1 Wil oM@ Eifew e
JTHT hrseh alEiehd B SITAT & AR 3IGh! HIfIEhT foreell T Aeho

MR BT | 2

Draw a labelled diagram to show that particular stage of binary

fission in Amoeba in which its nucleus elongates and divide into

two and a constriction appears in its cell membrane.

35. @ix B TRt wevifa SEicd g foma o dfdfers 1 39 @ g1

TRl 9 T BIehfYd hidl © | doavaTq a8 fR-¢R foret =01 o it SRS

AT 8, 3R & IR 98 ¥ ol THRIS ih foe o Jidfeis @bl e W

Ik od LT 2 | 2

(i) 98 <9 = form foen o ot ot 8- ud sl IR 3t9an U8 ¥
Y

(i) wfcfersr < ATESt 1 1 BT B— I Tl & a1 FedT ¢ ¢

(iii) ST o8 forray o1 <@ o STcaferes fepe o SITAT 8, e U W Widferat o
FTRATR ?
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A student focuses the image of a well illuminated distant object on
a screen using a convex lens. After that he gradually moves the
object towards the lens and each time focuses its image on the

screen by adjusting the lens.

(1) In which direction towards the screen or away from the screen,
does he move the lens?

(i) What happens to the size of the image does it decrease or

increase?

(i11) What happens to the image on the screen when he moves the

object very close to the lens?

36. 3W WA A w1 V&0l 4 © S AU CHITH A A D g8 39
e | e § e a g 2
() fEteaafem
(ii) AT SiA
(iii) ATt g
(iv) HifeT TESISH e Tol

What do you observe when you drop a few drops of acetic acid to a

test tube containing :
(1) phenolphthalein
(11) distilled water
(i11) universal indicator

(iv) sodium hydrogen carbonate powder
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